
Trigonometry General Results 
 

Isosceles right-angled triangle: 

 

Bisected equilateral triangle: 
 

 

sin
𝜋

4
=

1

√2
=

√2

2
≈ 0.707 sin

𝜋

6
=

1

2
= 0.5 sin

𝜋

3
=

√3

2
≈ 0.866 

cos
𝜋

4
=

1

√2
=

√2

2
≈ 0.707 cos

𝜋

6
=

√3

2
≈ 0.866 cos

𝜋

3
=

1

2
= 0.5 

tan
𝜋

4
= 1 tan

𝜋

6
=

1

√3
=

√3

3
≈ 0.577 tan

𝜋

3
= √3 ≈ 1.732 

 
 

 
 

sin 𝜃 = cos (
𝜋

2
− 𝜃) 

 
 

cos 𝜃 = sin (
𝜋

2
− 𝜃) 

 
 

 
 
 

tan 𝜃 =
sin 𝜃

cos 𝜃
                   sin2 𝜃 + cos2 𝜃 = 1 

 
  



 

𝐬𝐢𝐧 𝜽 and 𝐜𝐨𝐬 𝜽 both have period 𝟐𝝅 
 

cos 𝜃 = cos(𝜃 + 2𝜋) 
 

cos 𝜃 = cos(𝜃 + 4𝜋) 
… 

 
𝐜𝐨𝐬 𝜽 = 𝐜𝐨𝐬(𝜽 + 𝟐𝒏𝝅) 

 

sin 𝜃 = sin(𝜃 + 2𝜋) 
 

sin 𝜃 = sin(𝜃 + 4𝜋) 
… 

 
𝐬𝐢𝐧 𝜽 = 𝐬𝐢𝐧(𝜽 + 𝟐𝒏𝝅) 

𝐜𝐨𝐬 𝜽 has symmetry about: 𝟎, 𝝅, etc… 
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cos 𝜃 = cos(𝜋 − 𝜃) 

sin 𝜃 = sin (
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… … 
 

𝐜𝐨𝐬 𝜽 = 𝐜𝐨𝐬(𝒏𝝅 − 𝜽) 𝐬𝐢𝐧 𝜽 = 𝐬𝐢𝐧 (
𝝅
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𝐜𝐨𝐬 𝜽 has rotational symmetry about 
𝝅

𝟐
, 
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𝟐
, etc… 

 

𝐬𝐢𝐧 𝜽 has rotational symmetry about 𝟎, 𝝅, etc… 
 

cos 𝜃 = − cos (
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sin 𝜃 = − sin(−𝜃) 

cos 𝜃 = − cos (
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sin 𝜃 = − sin(𝜋 − 𝜃) 

… … 
 

𝐜𝐨𝐬 𝜽 = − 𝐜𝐨𝐬 (
𝝅

𝟐
+ 𝒏𝝅 − 𝜽) 

 

𝐬𝐢𝐧 𝜽 = − 𝐬𝐢𝐧(𝒏𝝅 − 𝜽) 

  

𝐭𝐚𝐧 𝜽 has period 𝝅 𝐭𝐚𝐧 𝜽 has rotational symmetry about 𝟎, 𝝅, etc… 
 

tan 𝜃 = tan(𝜃 + 𝜋) 
 

tan 𝜃 = tan(𝜃 + 2𝜋) 
… 

 
𝐭𝐚𝐧 𝜽 = 𝐭𝐚𝐧(𝜽 + 𝒏𝝅) 

 

tan 𝜃 = − tan(−𝜃) 
 

tan 𝜃 = − tan(𝜋 − 𝜃) 
… 
 

𝐭𝐚𝐧 𝜽 = − 𝐭𝐚𝐧(𝒏𝝅 − 𝜽) 

 


